MHF4U – Final Exam Review


Polynomial Functions

1. Determine the zeros of the function 
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2. The remainder when 
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.  Find C.

3. Determine the equation of: 

a. The cubic function with zeros 1, -2, -5 and y-intercept 10.

b. The quartic function with zeros 2, -1, 3 (order 2) and passing through (4,-10)

4. By calculating the Finite Differences, determine 

a. Which type of polynomial function best models this relationship.

b. Determine the minimum and maximum number of zeros and turning points for this type of function.
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5. a) Without using division (long or synthetic), find the remainder when 
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b) 
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c) Divide using long division 
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6. Factor fully

a) 
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b) 
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c) 
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d) 
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7. Solve for x.

a) 
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c) 
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8. Solve for t or x

a) 
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b) 
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9. Find the equation of  a polynomial functions with the given the roots:

a) 3, -2, 
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b) 1, 1, 6
c) 0, 
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10. For the function 
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a. State the degree of the function and comment on its end behaviour.

b. State the zeros and with the aid of a table of values, sketch the function.

c. Find, algebraically where 
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.  Illustrate, in colour, on the graph.

11. The amount of active ingredient of a medicine ingested by the body, A, in milligrams, is a function of time, t, in hours, given by 
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a. Calculate the AROC of medicine with respect to time over the first 3 hours.

b. Estimate the IROC (h = 0.01) of medicine with respect to time when t = 8 hours.  Explain the significance of the sign.

12. Find the inverse of the following functions.

a. 
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13. A toothpaste box has square ends.  The length is 12 cm greater than the width.  The volume of the box is 135 cm2.  Determine the dimensions of the box.

14. Use a polynomial to find three consecutive integers with a product of -504.

Answers:

1. zeros are 5, -5, 
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2. C=3


3. a) 
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4. a) The 4th differences are constant (value is 24).  Therefore it is quartic. 

b) Minimum number of zeros is 0, Maximum number of zeros is 4, minimum number of turning points is 1, maximum number of turning points is 3 

5. a) 5.25
b) –94.6
c) Quotient is 
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7. a) 
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9. a) 
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10.  a) Degree is 5 , For end behaviours, as 
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b) Zeros are 0 and 2
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    c) The function is decreasing when 
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   11.
a)  7.5mg/hour


b)  -3.3 mg/hour …… negative shows medicine in blood is decreasing

   12.   a) 
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13. 3cm x 3cm X 15 cm

14. -9, -8, -7
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